Test Booklet Code & No.

YIS i 9 . C
Paper-I1

COMMERCE

Signature and Name of Invigilator Seat No.
1. (Signature) .....cccoeeeeervrenienrieereereeeeeeen. (In figures as in Admit Card)
(NAME) oo SEALINO. .t
2. (SIignature) .......ccceveeeveeeceeeeereeeeeeene, (In words)
(NAINE) ..ot OMR Sheet No.
MAY- 50216 (To be filled by the Candidate)
Time Allowed : 1% Hours] [Maximum Marks : 100
Number of Pages in this Booklet : 24 Number of Questions in this Booklet : 50
Instructions for the Candidates foremeataTdt wewa= gor
1. Wriif ytour Sfef}f'NO' and OMR Sheet No. in the space provided 1. afkemefft 2Ie ST HHF A WW FIATd TARE.
on the top of this page. T ST R S T S e
2. This paper consists of 50 objective type questions. Each question
will carry fwo marks. All questions of Paper-II will be compulsory, 2. T TRAAhA 50 TETAE T A T4 TEAE G 0
covering entire syllabus (including all electives, without options). 3TRd. I YYTuhdiel @d g9+ Arefaol siiart &R, ¥e@ I3
3. At the commencement of examination, the question booklet %’JTWWW ST HTER ST 3.
will be given to the student. In the first 5 minutes, you are freneten weTa e el sté W
requested to open the booklet and compulsorily examine it as 3. qﬁ%'ﬁga Eﬂﬁﬁ. 5
follows : A ST e GeTarTeh 3333@5’6 IR qUYA
@) To have access to the Question Booklet, tear off the RREZIGH
paper seal on the edge of this cover page. Do not accept @) GITYh] SHSTATEE! TITUhaR aaeiel diel STSa.
a booklet without sticker-seal or open booklet. o1 et fRa S SHeoe TYTte fasTE 9.
(i1) Tally the number of pages and number of questions .
in the booklet with the information printed on the (i) WW“‘EWW&%W@
cover page. Faulty booklets due to missing pages/ T WYULTehdeT WWWW
questions or questions repeated or not in serial TS HHT ST, mﬁaﬁ-m %Fﬁ%n
order or any other discrepancy should not be w9 mﬁ?ﬁmwgﬁ mmm
accepted and correct booklet should be obtained
from the invigilator within the period of 5 minutes. Feardter 5 ffeTre wgrewer wd S e
Afterwards, neither the Question Booklet will be YYTARRT ARTEA SATE, =t Woubent sgel
replaced nor any extra time will be given. The same WH@@HMWW?@WW
may please be noted. et :ﬁg
(iii) After this verification is over, the OMR Sheet Number i) TergaTe T4 W ‘T%WFTW e
should be entered on this Test Booklet. >
4. Each question has four alternative responses marked (A), (B), 371 TH.3TR. ITAfFeh = o forgra.
(C) and (D). You have to darken the circle as indicated below on 4. Yk JYAETS (A), (B), (C) 3T (D) 3791t =R faereg S feait
the correct response against each item. 3TRd. el AT AT R @rett I IITYHTO SR

Example : where (C) is the correct response. e/ Fed .

@ ‘ @ . ¢ () T AT W A W
5. Your responses to the items are to be indicated in the OMR @ ‘ @

Sheet given inside the Booklet only. If you mark at any place 5
other than in the circle in the OMR Sheet, it will not be evaluated. 5. A1 AR FEA= ST 3‘}@3‘“ SlRIEE L)

6. Read instructions given inside carefully. T TRt foreterett ST qUreelt SToR e

7. Rough Work is to be done at the end of this booklet. 6. 31 fearen il mﬁﬁw

8. If you write your Name, Seat Number, Phone Number or put 7. FITYIH =1 T2 SIS o I=dT U g hH 9.
Avtted Tor the. mevant entrics, which may disclose your | & T ooy ¥ roe
identity, or use abusive language ’or employ any other unfair ;gFﬁ e 3]16;?{:[ 3:?; N Y 'ﬁTﬂT"ﬁI;'l
means, you will render yourself liable to disqualification. YA W

9. You have to return original OMR Sheet to the invigilator at the ST he T q fonere ST Hevard ILe. .
end of the examination compulsorily and must not carry it with 9. e HuearR foremeaty Fmg 371 TH. 3TR. STRULAHT TIALTHHS
you outside the Examination Hall. You are, however, allowed TR T ST AR TR o 3. TH. 3. ELICIECaC
to carry the Test Booklet and duplicate copy of OMR Sheet on T va STIeTse] ﬁ'uam fereneatan e TR,
conclusion of examination. 10.  hth (e foRa ShieT St UFTeITe! SITOR ST,

10. Use only Blue/Black Ball point pen. Wmmm T TTET H'IE':\‘

11. Use of any calculator or log table, etc., is prohibited. L1,

12. There is no negative marking for incorrect answers. 12. W ERMEIE TOThUTd Shell SITUTR "a




MAY - 50216/II—C



MAY - 50216/II—C

Commerce
Paper II

TSy

PrERIECTN |
Time Allowed : 75 Minutes] [Maximum Marks : 100
Note : This paper contains Fifty (50) multiple choice questions. Each question
carrying Two (2) marks. Attempt All questions.

GOl : A TRAULThd THY U (50) gl TEd fonl STed. Uoieh TR g (2)
U SRd. @d U Wi

L refers to the mix of | 1

sources from which the long term

funds required by a business are
raised. (A) T A

(A) Financial Management (B) WiSad] SHeEIH

(B) Capital Management ©) i

(C) Capital Structure
(D) fo =

(D) Finance Structure

2.  HHl HEHE faegis for et foxi=

2. Low operating leverage and low

RESS B R B

LI TR B @ 3 .

financial leverage indicates that the
company is not utilizing its ..............

effectively. .
(A) Y9I Yredd
(A) Share Capital

_ (B) &elis redd
(B) Debt Capital

(C) Retained Earnings

(D) Fixed Assets

(C) Td 3caH

(D) TEeR HreH

[P.T.O.



A plant would cost ¥ 1,00,000 and
would fetch ¥ 30,000 in first year,
¥ 30,000 in second year, ¥ 40,000
in third year and T 40,000 in fourth

year. Hence, pay back period would

be :

(A) 3 years
(B) 4 years
(C) 2 years
(D) 1 year

When a company has surplus
resources but does not have
adequate liquidity then the company
capitalizes its reserves and

distributes these reserves as :
(A) Equity Share

(B) Pref. Shares

(C) Bonus

(D) Debt

MAY - 50216/II—C

% 1,00,000 foRae= Z=@mai gfgen oo,
% 30,000 &= T8, ¥ 30,000 fae==n

e, ¥ 40,000 AT =ven =t 40,000

gdeh 3T od 3TH O T ShieTee

(A) 3 =
(B) 4 au
(C) 2 =
(D) 1 =

N L.

Siegl Shuiehe HIaTe STEeR ¥a T

i dledl T9d, ¥ TEita =

(A) FHYM
(B) 3fUsah M
(C) <MY

(D) &S




Assuming that ‘Maxwell Co.” pays a
tax at 50%. Compute the after tax
cost of capital in case of perpetual
bond sold at par, coupon rate of

interest being 7%.

(A) 23.5%

(B) 14.5%

(C) 3.5%

D) 4.17%

Which one of the following is the

operational function of HRM ?

(A) Organising

(B) Planning

(C) Compensation

(D) Controlling

5.
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Hodd 0 50% HR A A TR

T S I TR 7% =S |

b S . T o [al [al N
R S Fod I fashl huaam=t o/,

W HOYE Teda T X IR kT

(A) 23.5%

(B) 14.5%

(C) 3.56%

D) 4.17%

O 63 ALY IeAeTish! hIod

Teh HEHE HE AR ?

(A) e

(B) THamH

(C) THEHRIE

(D) faE=

[P.T.O.



Close ended performance appraisal

system is used in ................... .

(A) Government organisation and

public enterprises

(B) Multinational organisations

(C) Private organisations and

multinational organisation

(D) Co-operative organisations and

private organisation

From the following who did not make

any contribution to ‘motivation’ ?

(A) McGregor

(B) McCleland

(C) McFarland

(D) Maslow
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dfee THEeAThT el

I ST ST

(A) T Ty enfor gresfaes

el

(B) TgUSA el

(C) TS Heredr for agarseid

el

(D) g1 gerear sufor wwt

e

‘FEUTO’ TSR Wt I
AR el @ ?

(A) HRIR

(B) Hehefiels

(C) Hnhidls

(D) wTE=Al




10.

The most common activities
performed by HR which are

outsourced :

(A) Occupational health, payroll,

pensions and training

(B) Human Resource Planning

(C) Recruitment and Selection

(D) Assessment Centre

Worker’s Participation in

Management means .................. .

(A) Duty

(B) Security

(C) Employee involvement

(D) Risk

10.
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o

Agreies TASTISTd hed STu=a Jalid

T Tfdfereiten] shioren Tfafael sEtd

HAMEhd qUf Shedl [ 2

(A) HEEIHR ST, TR YR,

Teritaas sufor gfdrero

~

(B) A= TS

(C) wdt & fHgerit

(D) qoAiHT &%

AT ST HEHIT W :

(A) Hdasa

(B) gf&rad

(C) HHIRE T

(D) e

[P.T.O.



11.

12.

The interest rate of Reserve Bank
of India charged to loans to

Commercial Banks known

asS ciiiiiiiiiinnn. .

(A) Bank Rate

(B) Credit Rate

(C) Repo Rate

(D) Prime Lending Rate

The important factor of increasing

non-performing assets of

Nationalised Banks is ................... .

(A) Shortage of rain

(B) Political Interference

(C) Indebtness of farmer

(D) Inefficient management

11.

12.
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FHllarR  SATHRTATT U= ST Qd

(A) d&F

(B) Td@ =X

(C) [ R

(D) & &N

TSEAFT ST STSTUCH  HISTH

ITGUATEST @ Heh

TR,

(A) ST

(B) US&hid 89T

(C) TahT FHSETSIgo

(D) SThrdeTd SHIEIA




13.

14.

15.

The main function of National Bank

for Agriculture and Rural

Development is ...................... .

(A) To promote integrated rural

development and secure

prosperity of rural area
(B) To provide long term loan
(C) To refinance the rural bank

(D) To act as Apex Bank

Which of the following functions is

not performed by Private Banks ?
(A) Providing loans to customer

(B) Providing loans to priority

sector
(C) Issuing cheque to customer
(D) Recovery of loans

The system which convert Financial
Securities into electronic form is

called as .....ccouvvvevvnnnnnnn. .
(A) Disinvestment
(B) Re-investment

(C) Re-finance

(D) De-materialisation

13.

14.

15.
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T FoT @ UHO fahmd e T

(A) THIcHe TTHOT faehta STIfoT TTHIoT
&M Schs dTefel

(B) TTelehlci™ SheigRael vl

(C) T SehMT AfSREel o

(D) RTer d% WA &wE HI0)

TICAAdeh! IV T TS dehThed
el S e ?

(A) TTEHMT &Sl Q01
(B) W& &A1 el QUl
(C) UTEHI &HReT 20

(D) ol agedt

w1 Ugd foxia gfdydi= ol
S U— N
TEUTATa.

A) jdeoes

(B) GTaervsh

(C) gAfe

(D) 1. A AATEH

[P.T.O.



16.

17.

18.

“Difference in factor endowments
explain international trade.” This
theory is given by :

(A) Leontief

(B) Bertil Ohlin

(C) J.S. Mill

(D) Haberler

Balance of trade is equal to :

(A)

Total receipt on current account
minus total payments on capital

account
(B) Net balance on current account

(C) Net balance of merchandise

account

(D) Exports of visibles minus

imports of invisibles

International Finance Corporation

was established in :
(A) July 1956

(B) November, 1960
(C) March, 1947

(D) 1946

16.

17.

18.
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Y hd LY oe N oA
SCHIG  Hcon[=ql "l en  sHele Al

ARSI SO SATIRE TSR]

(A) fasEm

(B) sR3A 3T&el
(C) . TH. W

(D) TR

(A) =E] WA TR Wit 3T qieaa

AT TR <A

(B) =Te] Ercdeiial feae o]

(C) arforsg A1e wWdala fAsae
Eical

o ¢ a

(ld Al HAGRLHIATH

(D) SIIHTAT

SR
sarseta faxtar et s
"L T
(A) & 1956
(B) TegsR 1960
(C) 9= 1947
(D) 1946

10



19.

20.

The important function of World
Trade Organisation (WTO) is :

(A) To promote international trade
and aid among all the countries

to promote economic growth

(B) To review and facilitate the
coordination of activities of the
other institutions, within the

U.N.

©)

To provide a machinery for

international consultancy

(D) To facilitate the
implementation and operation

of multilateral trade agreement

The trend in composition of India’s
exports has been a substantial

increase in importance of ........... .
(A) Agriculture and allied products
(B) Ores and minerals
(C) Petroleum products

(D) Manufactured goods

19.

20.
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FTAWSTT AR FeEAd &I

(A) i srfvyggiardt ¥d Semmed
AW MR A 7Ed AT

ERERE|

(B) 9.UA. Wefial §d woman sAreran
B0 9 I RwEHES guad

ey

(C) ARSI el HAHTSH F=Tun GReTo]

(D) IgUeld =ATIR IR THA-
SISO o ShTEaTe! |l STl ISt
I IO

el 39k Ioiq WRdre atd ==

(A) e o Al FerE S

(B) et @S

(C) TSl dage 3care]

(D) I=AAfHa AT

11

[P.T.O.



21. A change in the exchange rate will

22.

change the amount of local currency
receivable on a bill denominated in
a foreign currency. The risk involved

is called :

(A) Import risk

(B) Foreign exchange risk

(C) Transaction risk

(D) Monetary risk

Computer system accessible to non-
specialists to assist in planning and

decision-making is called ............ .

(A)

Disk operating system

(B) Expert system

(C) Management information

system

(D)

Decision support system

21.

22.

MAY - 50216/II—C

o~

Al

7 S SeclHes URehid dai

St faoenr enfaer I &hA

THesaT™ T STHUR &b ¢

(A) 3T &R

(B) W I Erehl

(C) <aud ieht

(D) fo<ita ©iehr

STHRITA AR TV IO WG

e 3 foleufRaa wRrayd g

YoUlleill A/l —

(A) femr siad g
(B) e fa=H

(C) HAsTHe Thime e

(D) fedtsm o fam

12
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23. Finance Commission constituted by 93 Tty STENTER TOTOl At Sl -
the .o, .
(A) T 3% itw gfea
(A) RBI
(B) ToeR{iel See o off% sfean
(B) SEBI
(C) PNB (C) YT
(D) President of India (D) WRAre o
24. What do you mean by Economic | 94. s7fefer demr =S & ?
Plan ? )
(A) Tt A
(A) Gandhian Plan
(B) T A
(B) National Plan
qaTtieh IS
(C) Five Years Plan ©
D) Year Plan (D) afefef AT
25. Medium, Small and Micro-Entre- | 25. H¥H, T’ 9 H&H m T
preneurs contribute about ............ of s’ L 11+ MRS R TEd.
the GDP of country.
(A) 8%
(A) 8%
B) 19%
(B) 19%
(C) 35% (C) 35%
(D) 40% (D) 40%
13 [P.T.O.



26. The assets are classified as

27.

28.

current and fixed assets according

[ .

(A) Accounting Period Concept
(B) Business Entity Concept
(C) Going Concern Concept
(D) Cost Concept

For predicting financial distress, the
Z-score approach to ratio analysis is

developed by ....ccceeeeeeeeeeeenn.n. .
(A) J. Betty

(B) Altman

(C) Robert Anthony

(D) Cox

The partner who does not contribute

the capital, he is called ........... .
(A) Sleeping partner

(B) Nominal partner

(C) Secret partner

(D) Partner in profit only

27.

28.

MAY - 50216/II—C

g feemsn e IMiFd el

SIGIGE

(A) T HeTEe Feheu

(B) =HaEd 31fcd Hehod T
(C) =Te] o™ HE Hheadl
(D) &I Hahoudl

(S aY

IENIE|

SIS TEerd= STRTST SvaTHTal

(D) =T

SN YFTER Wieddr INeH ed ATl &H

14



29.

30.

Profit prior to acquisition is credited
.................... in case of consolidation
of financial statement of holding

company and its subsidiary

company.
(A) Profit & Loss Account

(B) Profit & Loss Appropriation

Account
(C) Investment Account
(D) Capital Reserve Account

If profit-volume ratio is 60% for a
fixed cost of ¥ 3,000 and profit of
% 3,000, the variable cost should

be oo .
(A) % 3,000
(B) % 6,000
(C) ¥ 10,000

(D) % 4,000

29.

30.

MAY - 50216/I1—C
AU TS d & ST THESes A=A

[N aY

IENIE|

USehTa TUhA[hi0 Shidl HUGH

(A) TH g dq&T S

(B) 1 @ dier faf=im o

(C) T[AaTh e

(D) Hrsdctt g e

SR THR-HT YA § 60% A 9
feer afteqg © % 3,000 38 (01 TH
% 3,000 A, W = qReA™
3.

(A) ¥ 3,000

(B) ¥ 6,000

(C) ¥ 10,000

(D) % 4,000

15

[P.T.O.



31.

32.

Rightward shift of demand curve is

an example of :

(A) Contraction in demand

(B) Expansion in demand

(C) Increase in demand

(D) Decrease in demand

In the law of variable proportions,

when TP is maximum :

(A) MP is rising

(B) MP is falling

(C) MP is horizontal line

(D) MP is ‘O

31.

32.

MAY - 50216/11—C
qMTUesh  SSidlehe HIhUl § 3IST8L00

(A) HTTOMEN Hehig

(B) HITO=T gt

(C) AN o1&

(D) | o2

SR THTOT= oM Siegt TahUT ScaieH

Held S 3THd degl—

(A) THd 3 ded 3T9d

(B) HH ST S

(C) HaT=g Scured fardis gHT=ay

I

(D) HM Scared ‘Y STEd

16
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33. Long run equilibrium under perfect | 33. qui ¥&dia el F9aA ¢
competition is : (A) fEwE = =L = S
(A) Price = AR = MR (B) TU. = T
B) TR = TC
®) ©) W@ = H@a
(C) MR = MC .
(D) foHd = 9.91. = T.YUL = 9.8, =
(D) Price = AR = MR = AC = MC P
34. Excess capacity exists under 34 aff - -
market :
(A) qui Tt
(A) Perfect competition
B) "eherigd el
(B) Monopolistic competition &)
(C) Monopoly (C) weH
(D) Oligopoly (D) 3TEHR
35. Marginal product is equal to : 35. HHE 3dRT § I SUe] 3TEd
(A) TP — AP = MP (A)@—W:@E
(B) MPn = TPn - TPn—l (B) @Eq = @q — @:[_1
(D) MP, = AP_ — AP__
n n n-1 D) W%, = "o, — "W,
17 [P.T.O.



36.

37.

Which of the following is not the part

of the subject matter of Business

Statistics ?

(A) Presentation of data

(B) Analysis of data

(C) Interpretation of data

(D) Appointment

Which formula is used for probable

error of correlation coefficient ?

l_ 2
(A) PE. = 0.6745 x Jﬁr
1 -2
1’2
(C) PE. = 0.7400 x m
1”2
D) PE. = 06740 x ——
( ) X \/ﬁ

36.

37.

MAY - 50216/II—C

qEadst S a1 g A

TEERTERT e A ?

(A) 9T GedenTo

(B) 9= fogerso

(C) urEi= fd=m &0

(D) 9w
qEICTUeh! ShIT 3 ¢ HeHaH UMehTid
A TW TF 2

(A) P.E. (99=a W) = 0.6745

1 -2

N

(B) P.E. (V9= <o)

1l

<
»
3
o~
()

(C) P.E. (V9= <o)

1l

e
-3
o~
(o
(=

X N+ 100

2
(D) P.E. (S9757 a) = 0.6740 x rﬁ

18



38.

39.

40.

Which one of the following is a
formula of Karl Pearson’s coefficient

of correlation ?
2 xy
\/szZyz
2 xy
2y2 )

(A r

T

B) r

2 Xy
>y
Zy2

C) r =

2 yx
Ly
2 +100

D) r

Statistical hypothesis is the
statement ..............coc .

(A) about the parameter
(B) about the data
(C) about the size of sample
(D) about the procedure
If
P(A) = 0.8, P(B) = 0.7,
P(A n B) = 0.6,
then PAA UB) = .ol .
(A) 1.50
(B) 0.56
(C) 0.06
(D) 0.90

38.

39.

40.

MAY - 50216/II—C
JEAdeh! IO G T RIG (AT
Hegay Uh B ?

(A) 2 xy
y = — /—
JExZzy?
2x
Jo? - =P
Zxy
C r =
(C) sz
Zyz
2 yx
7=
72 +100
TEANMSNE ieheqar w7
faam Bm.
N IEIEIENE!
(B) wTRIEEde
(C) THATAT SRR
) REIREEGIEIERE)
IS

P(A) = 0.8, P(B) = 0.7,
P(A n B) = 0.6,
TWRPAUB) = ..o .
(A) 1.50
(B) 0.56
(C) 0.06
(D) 0.90

19

[P.T.O.



41.

42.

Which Principle of Management

emphasises replacement of ‘rule of

thumb’ method ?

(A) Administrative theory

(B) Decision theory

(C) Scientific management theory

(D) Contingency theory

In MBO, objects are determined

(A) Only by subordinate

(B) Only by top level officers

(C) By subordinate and top level

officers

(D) By external agency

41.

42.

MAY - 50216/II—C

SIILIATIATAA hIVd dxd ‘& 3T

o9 = Feed ST Tl ?

(A) JemEehiE fagia

(B) Toiamn fagm@

(C) T e fagid

(D) A fagra

MBO \&3, Segarsit =t amHhd B

(A) T THHGR

(B) T 3o TRIFUSAER

(C) THA MU I=a RITURFAGR

faSl oSl o

(D) =mea wfaft

EARIGRI K

20



43.

44.

The principle of Unity of Command

implies ....ccoceeeeeeennnnenn. .

(A) Unity of thought and action

(B) Unity among subordinate

(C) Instructions from staff

authority

(D) Instructions from line authority

A formal organisation is one

where ........ccoceeeevevnnennn. .

(A) Authority is formalised

(B) Relationship between people

are well defined

(C) At every stage position,
responsibility, authority and

accountability are clearly

defined

(D) Authority and responsibility are

equated

MAY - 50216/II—C

43. IRl AR FHACT d@ &FHd A —

44.

(A) fo@R @ Fdl I ThCH

(B) TH UL TehTeHa

(o [a) o L
(C) U=l IRe3Eehgd I

(D) SR

o= §een ewft & N9 —

(A) STfoerrr= Siro=fianar

(B) AL Hoy Hfvaa sTHam

(C) Y% T gSll, ST&TegraT,

o~

AR g Seracr=ar it

dd

SHATd

(D) ATHHRR d JIAE=AT FHIF

SHATd

21

[P.T.O.



45.

46.

47.

Leadership qualities are inborn.
This notion forms part of which of

the following ?

(A) The followership theory of
leadership

(B) The behavioural theory of
leadership

(C) The path goal theory of
leadership

(D) The great men theory of

leadership

Which is the first important factor

of any marketing mechanism ?
(A) Effectiveness

(B) Change

(C) Management

(D) Organization

The exchange value of product is

termed as .......ccceeeeeieniiiennneen. .
(A) Value

(B) Price

(C) Money

(D) Cash

45.

46.

47.

MAY - 50216/II—C

AT SIS I B heddl

Teeieh! S aTRel AT ?

(A) AgEr=n AR faga

(B) Sgamen Skl fagId

(C) Aqgeren & unt fagha

(D) AgcaTen HeMHe fagia

IR ATSTRIS0 gfget He<amal s
ol ?

(A) TROTHRRERT
(B) s&A
(C) FIEATTH

(D) e

(A) oI
(B) fowma

(C) T

(D) U=
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48.

49.

50.

The product personality does not

include ......ccoeeveerviiinneennnn. .
(A) Product size

(B) Product price

(C) Product colour

(D) Product brand

is one of the most

................................

popular form of outdoor advertising.
(A) Newspaper

(B) Mail Advertising

(C) Posters

(D) Magazines

What is the important objective of

marketing research ?

(A)

To improve the efficiency of

marketing system

(B) To accept all risks

(C) To collect different information

(D) To work factually

49.

50.
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.............................

JrET IUTEA
eI GHEY BId A6

(A) 3T 3Th X

(B) Screar=t feruq
(C) ST
(D) SR Ul

FeT TMeddi™ & Tk clehiqd HIEaH
e

(A) ST

(B) ureft wfewra

(C) fufques

(D) fracenTicrs

forqurH ERmeAT Wewere SfEe i ?

(A) fagura sggwed=ar wTF &1Hdq

FHROM 0!
(B) ¥ SiEH iRl

o = =

(C) Tafy= wrfedt el Y0l

(D) & IHS dSdH w0
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ROUGH WORK

24



